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6. (a) A particle starts from rest, and
seconds. Show that the particle
(b) The depth of water in a harbour

harmonic motion. On a certain

If a ship requires a depth of 16
~—find the latest time on that dav

b wdshig

moves with simple harmonic motion of period 61

to the position in which the velocity is half the maximum in n seconds.

day the low tide had a height of 13 m at
12.58 p.m. and the following high tide had a height of 18 m at 6.58 p.m.

moves from the position of maximum velocity

is assumed to rise and fall with time in simple

5 m of water before it can leave the harbour.
that the,ship can leave the harbour.
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